
�������� �	 
�������

���� �� ��	
��
��
������ ���	
 ��
�	���	���� �	������� �����	���
� �	�������� �� �����

�� �������	�

�������� ������ ������� ����  ������� ! "�����!#��� ����#$%���#$ ! �""�����
"�!�&������ �� ��#��!�  ��&�� ' � (��!�����#!�) &��$�� −q "�� ��$�#$  �� ��������
� �*���� "� �!��*��#�� #� #!���#�+, v ��! ��� �) �&������+�-� �.�-  #�.�� ���,�
��&��#�+ /�& 01o� 2""�����  !�,��,%�3 �����-� "�� ��$%��  � �*���� ����4����+�-�
&��$�-� �!��"��� �� # ������3 �� �����$ "���/����� ��! ��� ���  �����) #��� ��3#� �,%�)
 5x − y6 "��#!�#��� 7�(���� �*�����#$� ��� 4���� ��## #�#���- ����� �#�� ��+#$  
"�!��� ����!� ��.����-� #��- 8����4� � �*�%�)#$ &��$�� ���. �� ���.� �� �� �- �
"���� �"���*�- "� ��"�� ����,� ��! ��� #���� #�� �� �� �� ���,� � ��#���#��� "����$
5��.�����$6 #��� 8����4� ����� !��"������  −x ��"�� �����  �,��3 ������  �������
7�(���� �- ���*�- &�!�,���+� ��� 4���� ��## #�#���- ��������� �#!��$��#$  (��� *�
��"�� ����� &� #���  ��������) #��� ��� "���� ������ "���4�"�� 9+,���� �3 ��)���!��

:���� 5��.����-)6 #�� 8����4�� ��3#� �,%�) �� � � &��$�� 5 ;��##� -) �����4�)6
"��$�!� q2v2/c2r2� .�� c < #!���#�+ # ���� r < #������ ��##��$��� ��*�� � ��$ &��$�����
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'�$ �,��.� �""������ !����-3 ��*�� �-�+ "���%�� �� ����������-3 #���� #���� !�����$
!�*��#$ �������� &�!��- ��)���!�� ����#��� ����� 9� ����  "���4�"�> #�.��#�,�#$ ��
&�!��- (��!�����.����&�� # &�!����� ��)���!�?
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@#��!� "�����!#� @ ��� �  �#)��$� ! 2�"��� 5=ABB6 C=D� !�.�� �� &�"�#��  -��*����
��$ #��-� ��3#� �,%�3 ��*�� � ��$ !�������� # ��!��� I1 � I2

F =
I1I2

c2

∮ ∮ [
dl1 · dl2 − 3

2
(r̂ · dl1)(r̂ · dl2)

]
r̂

r2
(Ampere) , 5=6

 &���� ����� &��!���.� 5 ��#��$%��  ���$6 &�!��� E��<:� ��� 5 /����� "�&����
&�"�#����3 ;��##����� CFD6

F =
I1I2

c2

∮ ∮
dl1 × d�2 × �̂

r2
(Biot − Savart − Grassman) , 5B6

"�#!��+!� "��-���.���+�-3 ����  5=6� �� ��  5B6� ��)����#$  ���+ ������ #�����$,%�3
��!� -� (������- !������ � ��$ �� "���.���#$� ��� #��- "��- ��!� -) (������� ���.
����#����+�� ���.� �� �- � "���� �"���*�-� ����!�� !�! �������� 2�"����  =ABG .���
CHD� &�!�� E��<:� ��� 5B6 ����� #�.��#���#$ # !��4�"4��3 ��.�����.� "��$�

F =

∮
I1dl1

c
× B , B =

∮
I1dl1

c
× �̂

r2
(Ampere − Biot − Savart) , 5F6

I�.����-3 ����  &�!��� #��- 8����4� CJD #������ �& 5F6 "�� &����� ��!� �.� (�������
Id� �� q�� .�� q < &��$�� � < �.� #!���#�+�

� = q� + q
�

c
×�, B = q

v

c
× �̂

r2
(Lorentz) . 5H6

K�! !�! ��� ����� 5H6 !�! (!#���"��$4�$ &�!��� E��<:� ��� ! �&����� ���-� ��!� -�
(��������  ���� ! !�*�%���#$ "���� �����, # 9+,���� -�� &�!����� ��)���!�� ��
2�"�� "���"���*����+�� ���*�� �-� &�!�,���+� ��� �&����� ���-� ��!� -� (������-
�� ��.�� #�%�#� � ��+�

I�!# ��� #��.!� �&����� (���  &.�$� 2�"���� ��! !�! �� ��##����� �� (��!�����#!�3
&��$� !�! ��"���- �� ��#"���������, "�����#�+ ρ� ����#$%�,#$ ! ��"�$*���$�  (/���
#�.��#�� ρ = ∇ · D/4π� .�� D  �!��� #��%���$ (��!�����#!�.� "��$�

L��!���������!��  �#�� � !�����3 < &��$*���-� ��#��4-� ��.�� �-�+ ��& ��� ���+!�
"�#�� �#���3 K��"#��� CGD � 7�3����.� CMD� !����-� "�!�&���� ��� LI "��$ ��.�� "�����#��+
(���.�, � ��"��+# �� :��� 8����4�� ��3#� �,%�$ �� &��$��  "�� -� ��#�*����#+ K��"#����
 ;�� J CGD < #�� ��&�� 8����4� C=1D�

����!� #������$ 2�"��� ����#����+�� #��� ��#� �$ #��- 8����4� � &�!����� 9+,����
���!�  $ ��3 /���� ����#� ���#+ ! LI ������ &��$*���-) ��#��4� ��! ��� "�����-�
"�����-� "������ @ ��� �� ��.�� !�&��+#$ "�����!#��+�-��

� ��� ���������	 ���	�� ����������������� � ���
���� ��
�������� ��
��� ����������
����� ������ ���
����� !�
� ����������� "������� � #$%#&' ��� ($)� ������� ���
�
 ������
������� ���
*�����	 � ����
�� ���	�� !���� �����	���	� + #$%' �� ,�����
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�� ���� ���
��� ����  ��!��� 	 "�#��	"$% �� 1/c2

:���+$ 7�3�*� � 2���#� C==D "����#�� �$�� ��� )�����,  �&��*��#�+ ��&�����+
"�����!# @ ��� �> # �����#�+ �� 1/c2 N � 9 "��$ "��- &��$�� ��,�  !���  ������ �,
#��� 8����4�� @��� ��##�������� ����  7����*���� ��

'�$  -��#����$ #��- 8����4� # �����#�+, �� 1/c2 ��#������� �#"��+&� ��+  -��*����
5H6 ��$ ��.�����.� "��$� ����!�� ����- ��#���+ ��*��3 �����#�� N "��� � �*�%�.�#$
&��$�� ���*��  !�,���+ (//�!�- &�"�&�- ���$� !�! (�� ��*�� �-�+ "������� �& ��&��*���$
"���3 8+�����<��)���� C=B� =FD 5����� �����+�� #�� 7����*����  C=HD6�

E ≈ q
�̂

r2

(
1 +

v2

2c2
− 3

(�̂ · �)2)

2c2

)
− q

2c2r
[& + (& · �̂)�̂] , 5J6

.�� a < �#!������ &��$��  ��!�%�3 ������  ������� �� K�.�� "����$ LI #��� FEM �
��3#� �,%�$ �� "��� �#!��$,%�)#$ &��$�� � ��&������-) ��##��$���� r = r2 − r1� �#�+�
# �����#�+, �� 1/c2

�EM = − q1q2

2c2r

{
&1 + &2 + [(&1 + &2) · r̂]r̂ − r̂

r

[
v2

1 − v2
2 − 3(r̂ · v1)

2 + 3(r̂ · v2)
2
]

−2r̂

r
× (v1 × v2)

}
5G6

.�� ���3���  �!������ "���& ������ �"�#- ��� (//�!� ��.�����.� "��$�
� "������ @ ��� �� .�� �����#$ !��.� �� � �*����� v1 = v2 = v � a1 = a2 = v2/R�

� R < �����# �!��*��#��� !����-3 ���+��� ��� ��##��$��� r ��*�� � ��$ &��$�����
7����� ������+��3  !���  "����, LI #��� ���� (��!�����#!�� "���� #�&�� �����
�#!�����$�� ��#��4� �� �� ��.������ "���� O���� ��.�� ��#�+ #��- 8����4�� #�&�� ����$
�#!�����$��� �#4���$�����.� ��"�� � (�� $ �$��#$ !�,�� -� (��������  ��&�������
"�����!#� @ ��� ��

I�*�� �-�+ "���&�� ��#"�#��+ 5G6 ����� "������� ��$ "������ @ ��� �� "���$ 
��##��$��� ��*�� � ��$  ��%�,%���#$ ��#!��� 5�� �����) !����-) &�!��"���- ����4����+�-�
&��$�-6 &� D, D � R� I- ��##������ #��� 5G6 # �����#�+, �� R/D�

7���*���$� #!���#�� � �#!�����$ � �) &��$�� ��.�� �-�+ &�"�#��- !�!>

r1 = R sin
vt

R
x̂ + R cos

vt

R
ŷ , r2 = Dŷ + R cos

vt

R
x̂ − R sin

vt

R
ŷ , 5M6

v1 = v cos
vt

R
x̂ − v sin

vt

R
ŷ , v2 = −v sin

vt

R
x̂ − v cos

vt

R
ŷ , 5A6

v1 = −v2

R
sin

vt

R
x̂ − v2

R
cos

vt

R
ŷ , v2 = −v2

R
cos

vt

R
x̂ +

v2

R
sin

vt

R
ŷ , 506

'�$ (��.� "������ ����-  5G6� #����*�%�� #!���#�� < "��$�!� R/D� ����*���-� ��
.�� �-� ����-  �#!�����$)� 7�(���� ����- ���#"����+ �����#�+ "��$�!� R/D� ��#�������

� +�������� /32 ����� !��� ����!�������� � ��������� !�
�� ���������� ���� �
	 �����
*
������������ ��
	� ������� ���	���	 � ������	���� ��� 1/r� �� ���� −q[a⊥/c2r]ret = −q[(� − (� ·
�̂)�̂)/c2r]ret� � ����������� �����
	���� � ������������� ����	 t′ = t − r/c

F



�""��!#����� ��+ r ≈ D � r̂ ≈ ŷ  �����)� #����*�%�) #!���#��� ����!� �- ���*�-
#�)�����+ "�� -� "�"�� !� ! r � r̂  �����)� #����*�%�) �#!�����$� K�.�� �- &�"����

r = r2 − r1 = D

[
ŷ +

R

D

(
cos

vt

R
− sin

vt

R

)
x̂ − R

D

(
cos

vt

R
+ sin

vt

R

)
ŷ

]
, 5=16

1

r
=

1

D

√
1 − 2R

D

(
cos vt

R
+ sin vt

R

)
+

2R2

d2

≈ 1

D

[
1 +

R

D

(
cos

vt

R
+ sin

vt

R

)]
, 5==6

r̂ =
r

r
≈ ŷ +

2R

D

(
cos

vt

R
− sin

vt

R

)
x̂ , 5=B6

a1 + a2 + [(a1 + a2) · r̂]r̂
r

≈ − v2

DR

[(
cos

vt

R
+ sin

vt

R

)
x̂ + 2

(
cos

vt

R
− sin

vt

R

)
ŷ

+
2R

D
x̂ +

3R

D
cos

2vt

R
ŷ

]
, 5=F6

r̂

r2

[
v2

1 − v2
2 − 3(r̂ · v1)

2 + 3(r̂ · v2)
2
] ≈ − v2

D2
cos

2vt

R
ŷ , 5=H6

2r̂

r2
× (v1 × v2) ≈ −2v2

D2
x̂ , 5=J6

� �- ������*� ���� ��� 5G6 ��*�� �-�+ �""��!#����� ��� !�!

FEM ≈ q1q2

2DR

v2

c2

[(
cos

vt

R
+ sin

vt

R

)
x̂ + 2

(
cos

vt

R
− sin

vt

R

)
ŷ +

6R

D
cos

2vt

R
ŷ

]
. 5=G6

I�.�����$ #��� 5=J6 ������*���#$ "�"�� !�3 "��$�!� R/D ! (��!�����#!�3 #���� ���#�� �����3
�#!������� &��$�� � !�! (��  ���� �& 5=F6� K�! ��� �������� ���������-3 �#"�!� "�����!#�
��&����� < "����$ LI #��� �#4���$�����.� ��"�� ����!�� ��&��+����,%�$ LI #��� 5=G6�
��3#� �,%�$ �� 5�&����� ����,6 #�#���� ������ �$� ��! ��� �#����#$ "�����!# 2�"����
&�!�,��,%�3#$  ���� ��� �����3 &�!�� 9+,���� ��  -"���$��#$ ��$ #��- 8����4��
��3#� �,%�3 ��*�� "���3 � �*�%�)#$ &��$�� �

'� (�
�"����)��"��* ���+�$	�

P����$ 7�3����.� CMD �� �- ��"��+ ��##������ ��"��+# LI "��$�  -��#�$��-3 "�
/������

P =
1

4πc

∫
[E × B] dV ol 5=M6

����!� �- �� ��*�� �������+ Q#��#� ���-3 ��"��+#Q
∫

[E × B] dV/4πc �� ��)�����#!�.�
��"��+#� ��#��4- j� � :!���� ��� ���� ��##����� ��+ ��"��+#  &������3#� �$

P =
1

4πc

∫
{[E1 × B2] + [E2 × B1]} dV ol 5=A6

�4������� ���������� ���
 � #$$3 (#5) ��� ��� ������ ���������	 �������� 6��������� ����
���	
���!�������� �� � #$$1 ����������� �!��������	 �������� (#%)� 7�����	 ��
� ������� 6��������� ���
������ *������ � �
������� 8, ����
��� !�
� ������� �������� �!��-���� (#$)

�" ��������� �� 1/c2 ��-��������� ����
�� ����� � � ������ ����	 m � ��������� v ����
Pmech = mv(1 + v2/c2)� ����
�������� *��� 9���� � ��������� �������	 /1:2 ��
����� *99����
*
��������������� .��!��������� ����
���.�

H



:�)���$$ ���+!� ����- "��$�!� 1/c2� �- "������� ��$ #��� ��#� �,%�.� LI ��"��+#�
C==D

PEM =
q1q2

4πc2

∫
[r̂2 × [v1 × r̂1]] + [r̂1 × [v2 × r̂2]]

r2
1r

2
2

dV ol =
q1q2

2c2r
[v1 + v2 + ((v1 + v2) · r̂) r̂] .

5=06
� ��  ���$ !�!� #���.� .� ��$� LI ��"��+# �#�+ "��#�%  #�3 #�#���� !�! 4����� ����-  
5=06� #����*�%�� vj ��.�� �-�+ ������/�4��� ��- !�! ��"��+#  &������3#� �$� "��#�%�3
��#��4� j�

�&$ "���& ����, "�  ������ �� 5=06� �- ������*� ���� ���

dPEM

dt
= −FEM , 5B16

#�� ������ (��3 "���& ����3 # 5G6� K�!�� ����&���  -��#����� LI ��"��+#� #�.��#��
��� ����$ 5=A6 � 5=06 ���� ��� ������� ��� ����$ 5B16 �

,� -��  ��!��� �� ��"���
 �
 �
*	"�+%" ��
.��
 	����

N#�� � � &��$��  &������3#� �,� ��*�� #���3 ���+!� ����& LI #��-� ��.��  ����3
&�!�� 9+,���� ��$ ��)

dPmech

dt
= FEM , 5BB6

.�� Pmech ��%�3 ��)�����#!�3 ��"��+# &��$�� � K�.��  #�.��#�� # 5B16 �- &�"����

dPtotal

dt
=

dPmech

dt
+

dPEM

dt
. 5BF6

� (��� #����� 4���� ��## � �) ��#��4 ��*�� � �.��+#$ "�� ��3#� ��� �) #�� 8����4��
�� 4���� ��"��+#� #�#���- �#����#$ /�!#��� ���-� 5��� "���- ���  �� ��������
� �*����6�

/� 0� �
.
��
 �������	� 1�������

��& ��%�$#+ ! "������ @ ��� ��  !������ � � &��$�� "�� ����-  � �*���� "�
!��.�� �- ������*� ���� ��� !���� #��- 8����4� ���,�#$ � ���.�� #��-� ' �*���� �
#���� ����+�� ��)�����#!�3 ��"��+# P���� &��$�� � �&������� (��.� ��"��+#� � "����$

�8��� ����
���� �� 	�
	���	 ��������� � ���� ��� ���
���� ������ �� ���������� 6�������� ��
�
;���� � ����� !��� ����!�������� ���

FEM =
∮

�T · dArea− 1
4πc

d

dt

∫
[E × B] dV ol /1#2

��� �T ������ ����	����� ,�����

�� "� �������� 

� #: (#:)� 7
	 ��	������ ������� ���	���� ���
������� 	�
�� ��
�
��
�� �����
��
	� �������
 ����	����� �������� �� ���� ����� ��� �
�����<�!=��
�������������	 ������� ��� �������� � /1:2� + ������ ���
���� ������� ����
��� � ��������� �� 1/c2�
��
������� ����� �����!����� �����
��� ��
�����
���� *99���� > ���	��� 1/c3 ���
���� 9����
�
;������ dU/dt = 2q2a2/3c3�

J



#��� Ftotal� ��3#� �,%�$ �� &��$�-� �& �#��- 5 "�� �� "�����*����6� ��! ��� �-
&�"����

dPmech

dt
= Ftotal = FEM + Fother . 5BH6

K�!*� �- ���*�- ��##������+  �&��*��� � �*���� "�����*� �,%�3 &��$�- "���/���-�
�� !�����, ��3#� ��� #��� ���!4�� −Fother� �#)��$ �& "���"���*���$� ��� #��- ��*��
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